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Please note: 

· At first please check the exam paper: are there 6 pages / all well readable?

· Please only work in the exam paper; use the boxes for your answers. You do not need own paper. 

· Your calculations should be shown. The complete solution method must be traceable! 

· You can achieve 60 points – in 60 minutes! => one minute is approximately worth one point; please consider the indicated scores.  The tasks are formulated that way that usually short answers are required. Therefore do not spend too much time with "inferior" tasks!  
NEW!: To obtain a 100% marks you have to gather 60 points. There are four tasks worth 20 points each   you have to answer only 3 of the four tasks!
                                            Important: Only 3 tasks will be marked ! 
In case you worked at more than 3 tasks it is necessary that you clearly show which 3 tasks are to be counted (= check below). If you don’t indicate which tasks to mark, only the first three will be counted. 
· Permitted are:  pens, ruler, calculator (without word processing function), English language dictionary. 
· Please do not use a pencil (except in diagrams) nor red pens.
· Mobile phones have to be switched off!
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Task 1 IS/LM Equilibrium on Goods- and Money market
[20 points]
In an economy the following equations and variables are given: 

	Goods market:
	Money market

	C = 900 + 0,9 * Yd
	M = 1000

	I = 200 / i
	LT = 0,1 * Y

	
	LS = 300 / i


1.1 Provide a definition of the LM curve and describe the concept of the IS/LM model. 
[4 points]
The LM curve is the geometric location of all combinations of the real interest rate i and the real income Y. The IS/LM model describes the simultaneous equilibrium on goods (capital) and money market. 
1.2 Show the equilibrium conditions for both markets. Compute the values of Y and i that lead to an equilibrium on both markets. 
[8 points]
	Equilibrium on the goods market

Y = C + I = Caut + C‘ * Y + I
   = 5 000 + 0,9 Y + 200 / i
0,1 Y = 500 + 200 / i 
  Y = 9 000 + 2 000 / i 
	Equilibrium on the money market

 M   = TT + LS
1000 = 0,1 Y + 300 / i
0,1 Y = 1000 - 300 / i
Y = 10 000 – 3 000 / i 

	Simultaneous equilibrium:

9 000 + 2 000 / i = 10 000 – 3 000 / i
(  5 000 /  i = 1 000
(  i* = 5     equilibrium interest rate
	Apply to one of the Y equations: 
Y * = 9 000 + 2 000 / 5
(  Y * = 9 400


1.3 Construct a diagram of the IS/LM model showing both curves and the equilibrium. 
[3 points]
[Attention: these are non-linear functions. The easiest way might be so calculate Y for some possible i values (i.e. 1,2 and 3)]
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1.4 What are the amounts of Savings S, Investment I, LT and LS?
[4 points]
S = - Caut + (1-C‘) * Y
I = 200 / i = 200 / 1
LT = 0,1 Y = 0,1 * 9 400 = 940
   = -900 +  0.1 * 9 400
I = 40
S = 40

LS = 300 / 5 =  60
Task 2 National Accounting 
(20 Points)
2.1 Fill the empty boxes in the following circular flow model. Explain the concept of the model.  
(5 P)
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2.2 Which are the three ways of measuring GDP?
Describe the basic concept of all three approaches.    
 (6 P)
The three ways of measuring GDP

      - the product method

      - the income method

      - the expenditure method
2.3 What is the difference between GDP, GNI (or GNP) and NNI (or NNY). 
Explain the concepts. Approximately what is the current GDP in Germany?   
 (4 P)
	G - D = N
	Gross … - Depreciation = Net …

	DP + NIA = NP
	Domestic … + (net income from abroad) = National …

	PM + SB = PF   or:
P  +  SB  = Y
	Product at market prices + state balance = Product at factor costs
Product + state balance = Income    
with: state balance = (Tariffs + ind. Taxes – subsidies)


2.4 Graph and describe a theoretical business cycle and its phases. [Don’t forget to properly label the axes]
 (5 P)

Task 3 “The Roots of Macroeconomics” / Economic Schools
[20 points]
3.1 Describe the basic ideas of the theory founded by Adam Smith. Especially discuss the topics and the implications of free markets and the “invisible hand”, Say’s Law and the quantity theory of money.
[8 pt]
3.2 Describe the meaning of the “the importance of aggregate demand”, the multiplier process and the demand management by fiscal and monetary policies. To which theory do these concepts belong (name of theory/founder). 
[8 pt]
3.3 Which are the causes of (long-term) growth?
[4 pt]
Causes of long-term growth

- increases in the quantity of factors: labour, land and capital

     - importance of investment in human capital (=education) and technological progress ; 
    (- but problem of diminishing returns)
 -increases in (factor) productivity
-effects of actual growth on potential growth

     - the importance of investment


Task 4 Short-run Macroeconomic Equilibrium
[20 points]
An economy is currently in equilibrium. The following figures refer to elements in its national income accounts.
	
	£ billions

	Consumption (total)
	60

	Investment
	15

	Government expenditure
	5

	Imports
	7

	Exports
	7


4.1 What is the current equilibrium level of national income?
[4 pt]


Y
= C + I + G + X – M



= £60 bn + £15 bn + £5 bn + £7 bn – £7 bn




= £80 bn
4.2 What is the level of injections?  – What is the level of withdrawals?
[4 pt]
J = I + G + X

   = £15 bn + £5 bn + £7bn  = £27 bn
 In equilibrium, W = J. As this economy is in equilibrium, withdrawals will equal current injections.

  W = £27 bn
4.3 The autonomous consumption is 4, how much is the level of saving?
[4 pt]
As   


Y = C + I + G   (+ X – Im)  and C = Caut + mpc * Y

We have: 
Y = Caut + mpc * Y + I + G
Here: 

80 = 4 + mpc * 80 + 15 + 5   mpc * 80 has to be 56, so mpc = 0.7
As 


S = -Caut + (1-mpc) * Y   = -4 + 0.3 * Y  = -4 + 0.3*80  S = 20
4.4 Describe the concept of the multiplier. What’s the value of the multiplier?
[4 pt]
… multiplier = …..


as shown above, mpc = 0.7

so m = 1 / ( 1 – mpc) = 1 / 0.3   m = 3.33
4.5 Given the investment decreased to 10. What kind of gap would occur? 
Explain the name and the macroeconomic consequences of situation like this. 
[4 pt]
(hint: AS (or Y) stays the same, what’s the new level of AD?)

AS = 
Y
= £ 80 bn


AD = 
 C + I + G + X – M




= £60 bn + £10 bn + £5 bn + £7 bn – £7 bn  =  £ 75 bn


AD < AS    deflationary gap

As not all products are sold, price tend to decrease. Firms are going to invest less and the economy may enter a downward spiral. Government may help by increasing expoenditures. 













Good Luck !
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